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∴ 2I = 3 – 1 = 2 

∴ I = I. 

Exercise 6.2 | Q 4 | Page 148 



 

Solution:  

 

Exercise 6.2 | Q 5 | Page 148 

 

Solution: 

 



 

 

Exercise 6.2 | Q 6 | Page 148 

 

Solution: 

 

 



 

Exercise 6.2 | Q 7 | Page 148 

 

Solution: 

 

 



 

Exercise 6.2 | Q 8 | Page 148 

 

Solution: 

 



 

MISCELLANEOUS EXERCISE 6 [PAGES 148 - 150] 

Miscellaneous Exercise 6 | Q 1.01 | Page 148 

 

1. 0 

2. 3 

3. 9 

4. – 9 

Solution:  

 



 

Miscellaneous Exercise 6 | Q 1.02 | Page 148 

 



Solution: 

 

Miscellaneous Exercise 6 | Q 1.03 | Page 148 

 



Solution: 

 

 

Miscellaneous Exercise 6 | Q 1.04 | Page 149 

 

1. 9 

2. 4 



3. 2 

4. 0 

Solution: 

 

Miscellaneous Exercise 6 | Q 1.05 | Page 149 

 

1. 2 

2. 0 

3. 8/3 

4. a 

Solution: 

 



Miscellaneous Exercise 6 | Q 1.06 | Page 149 

 

1. 12 

2. 52 

3. 521/1 

4. 211/5 

Solution:   

 

Miscellaneous Exercise 6 | Q 1.07 | Page 149 

 

1. e – 1 

2. 1 – e 

3. 1 – e2  

4. e2 – 1 

Solution:  



 

Miscellaneous Exercise 6 | Q 1.08 | Page 149 

 

Solution: 

 

Miscellaneous Exercise 6 | Q 1.09 | Page 149 



 

1. 7 

2. 49 

3. 0 

4. 7/2 

Solution:  

 

Miscellaneous Exercise 6 | Q 1.1 | Page 149 

 

1. 7/2 

2. 5/2 

3. 7 

4. 2 

Solution:  

 



 

Miscellaneous Exercise 6 | Q 2.01 | Page 149 

 

Solution: 

 

Miscellaneous Exercise 6 | Q 2.02 | Page 149 



 

Solution: 

 

Miscellaneous Exercise 6 | Q 2.03 | Page 149 

 

Solution: 

 



 

Miscellaneous Exercise 6 | Q 2.04 | Page 149 

 

Solution: 

 

Miscellaneous Exercise 6 | Q 2.05 | Page 149 

 

Solution: 

 



Miscellaneous Exercise 6 | Q 2.06 | Page 149 

 

Solution: 

 

 

Miscellaneous Exercise 6 | Q 2.07 | Page 149 



 

Solution: 

 

Miscellaneous Exercise 6 | Q 2.08 | Page 149 

 

Solution: 

 

∴ f(x) is an odd function. 
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2. False 

Solution: Here, f(x) = (11 - x)2, a = 4, b = 7 True. 

Miscellaneous Exercise 6 | Q 4.01 | Page 150 

 

Solution:  

 



 

 

Miscellaneous Exercise 6 | Q 4.02 | Page 150 

 

Solution: 



 

 



 

Miscellaneous Exercise 6 | Q 4.03 | Page 150 

 

Solution: 

 



 

Miscellaneous Exercise 6 | Q 4.04 | Page 150 

 

Solution: 

 



 

Miscellaneous Exercise 6 | Q 4.05 | Page 150 

 

Solution: 

 



Miscellaneous Exercise 6 | Q 4.06 | Page 150 

 

Solution: 

 

Miscellaneous Exercise 6 | Q 4.07 | Page 150 

 

Solution: 

 



Miscellaneous Exercise 6 | Q 4.08 | Page 150 

 

Solution: 

 

 

Miscellaneous Exercise 6 | Q 4.09 | Page 150 



 

Solution: 

 

 

Miscellaneous Exercise 6 | Q 4.1 | Page 150 

 



Solution: 

 

 



Miscellaneous Exercise 6 | Q 4.11 | Page 150 

 

Solution: 

 

 



Miscellaneous Exercise 6 | Q 4.12 | Page 150 

 

Solution: 

 

Miscellaneous Exercise 6 | Q 4.13 | Page 150 

 

Solution: 

 



Miscellaneous Exercise 6 | Q 4.14 | Page 150 

 

Solution: 

 

 



 

Miscellaneous Exercise 6 | Q 4.15 | Page 150 

 

Solution: 

 



 

Miscellaneous Exercise 6 | Q 4.16 | Page 150 

 

Solution: 

 

 

Miscellaneous Exercise 6 | Q 4.17 | Page 150 



 

Solution: 

 

 

Miscellaneous Exercise 6 | Q 4.18 | Page 150 



 

Solution: 

 

 

∴ 4x + 3 =A(x + 1) + B(x + 3)    ...(ii) 

Putting x = – 1 in (ii), we get 

– 4 + 3 = A (– 1 + 1) + B(– 1 + 3) 

∴ – 1 = 2B 
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